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Instructions:
EZL£AA:
EHMA:

> Question number 1 to 20 are of short answer type.
F£1E20 BYIREEE.
F£1E20 BYREEH.

> Each question carries 10 marks.
BREML 10 7

BE L 10 2,

In the word ‘MATHEMATICS’, what fraction of alphabets are symmetric?
£ "MATHEMATICS, EffFH , BZI N FEEHER?

E“MATHEMATICS"XMAFR |, BZ LA FZERFEXRNTHRH ?


mac


2)

There are 500 students in a school. If they are divided into six houses equally,
what is the number of students in the house with the most number of

students?

—FTERE 500 B24E. WRFHDK 6 B2 , BESLEABRSNERR

ZHOREBLE?

i

— PR 500 B3k, MBETHHM 6 2K, BAREARRSNERE

Clark goes on a tour on the 13th day of February. If he returns on 19th

February and that day is Sunday then what was the day on 1st February?

RN 2 A 13 BETKEEL, BRMEE2 A 19 BEIXK , B—RE2EH

B,HE2R1BREME?

RPRT 2 A 13 A#RATHKE, MRME2 A 19 BEX , B—RIEHHE ,

Z2R1BREHN?



4)

Athlete A jumped 72 cm high and athlete B jumped 1 m 38 cm. The highest
score in the record is 55 cm less than the sum of the heights they can reach.

How many more heights athlete B needs to reach to break the record?

EBEABS 72 EX , EHE BBE 1K 38 EX, cixF &S KELAM

REINSERNERT 55 00, EBFE BEFEEINSOSET TR

EFR ARG 72 EX | iZ3 A B BEE 1 K 38 EXK, IEFRFR &SRS LLAA]

RAINESECHNERT 55 EX, 3R BREFERIZSIOEES T RE

A tube of toothpaste weighed 220 gm and the packing weighed 8 gm each. A
person bought 8 tubes. How many kilograms did the tubes of toothpaste

weigh with packaging in total?

—EFBE220 /R , BXEEES R, —BAET8E, TEEERAZE

Eﬂ: E 220 ﬁ gﬁ@ E 8 ;Eo _AADJ_T 8 %:o %%%EE@%IQ\/\

\\

EZ

DI ?



In a day, Macy ate 2/8 of a chocolate bar in the morning and 5/19 in the afternoon.

In how many days Macy will finish the chocolate bar?

—RH, AR LIz T72/8MRI57% 1, TFIz 7519 - BAREZ DRI EENZ5T

d

BIRISI?

—RH, 18R LIz 7 2/88R155% 11, TNz 75193k - BAFEEZ DR GElz5T

d

XIRIG5R S]?

What is the area of a square with side length 6 cm and a rectangle with one

side the same length as the square and another side double the length?

BRACLTNEFEN—EBRALELE, S—BRAELFTEHAMENRLT

HEERZD?

BER 6 ERNEREM—ARKAELDT, 5—AKAEFFHNKL NG

HEREZD?



8)

At the start of the week, a pizza company has 2000 pizzas. They sell 876 of the
pizzas on Tuesday and 654 more pizzas on Wednesday. How many pizzas do

they have left?

AREL , —RILEELRA 2000 EiKE, wfIBE"FT 876 [EikE , B=XE

T 654 fEKEE, MPIERT S @EHE?

AEA , —REWFELFE 2000 MEEE, EAIF=KHT 876 MK , A=X

R T 654 MERE.  MEATER T S D MNMREE ?

The smallest three digit number which is even and is a multiple of 3 is

SHEHETRINVBE=ZNER?

SHEHYRPHVBH=ZNEIE?



10)

How many more parts are to be shaded to make % part shaded?

ER12BoBEE , CEEBERZIHS?

\\

ER 12 ERsEE  EREECS LMD ?

11)

If the area of a circle is 154 cm?2, what is the circumference (in meter)?

(Use 1 = 22/7)
MREWEER 154 cm? , BEBAREZD (BZR) ? (FAT=22/7)

MEENEHRR 154 cm? , BABAKRZD (K) ? (FAT=22/7)



12)
You have a $ 50 note, two $ 10 note, three $ 5 coins in her wallet. A book

costs $9.5. If you want to buy 10 books, how much more money do you need?

REVEZ BEH —5k 50 THARED, W5k 10 TS, =W 5 THVRER. — &8

EE 95T, MRIFBE104E , REFEZLE?

RV BEB—K 50 THIEKT., BK 10 tKm, =85 T, —F&BH

B 9.5 T, MRIREX 10 EKF , REFESDE?

13)

A bucket has a capacity of 40 L. It is % filled with water. A water bottle has a
capacity of 1500 ml. How many bottles can we fill with the water present in the

bucket?

—EXBNEER 40 XFH. BEMT 3/4 BIK, KENEES 1500 2,

R AR AT BASR R 2 D@L F 2

—NKRBNBERN 40 Fto BRFT 3/4 9K, KBHIBRENRN 1500 BFH. #HF

HYK AT BAETR Z DT 2



14)

If the total cost of 250 apples and 50 oranges is $ 350 , then what is the total

cost of 50 apples and 10 oranges?

AR 250 fEFERM 50 fEF FRMBK AR 350 &7t , HBEE 50 {EZERM 10 B4

FHREAERSZD ?

IR 250 NERFM 50 MEFHERAR 350 £t , BBAL 50 NFERM 10 ME

15)

A door opens completely from a closed position. How many degrees has the

door turned if it is fully open and flat against the wall?

FIftRARA L E 2T, MRFMZLITHEEFRHERLE  PFIBEBTZLE?

MMKALEZTE2T T, MRMNZELITTFAFEEREL  NEDPTSD



16)

If you start facing North and turn 270 degrees anticlockwise, what is the

direction you are facing now?

WRAREA AT 0 b 32 RFETAEEE 270 B |, {RIREE @AY 5 @ 24T 2

MRRFFAEE I H TR e 270 B |, (REIEAQMN AR ZTA ?
17)

If it is currently 21:00 and you will go to sleep after 45 minutes, how many

hours of sleep can you get if you need to wake up at 6:15 am?

WMRIBER 21:00 , BHETE 45 DEEAE  BEBENREEEERE L 6155

PR, BRI LARES D /NEF 2

WMRMER 21:00 , BFFE 45 7HEAE , FLANMREBEEER L 6:15

PR, S8 A LARE S DANIE 2

18)

| am an odd two-digit number. | have a nine in the tens place. | am a prime

number. What number am 1?

ER—EAMUBNETH. BETHLEE—BAL. BERH. RRTEHF?



BER—IFNENTHR. RETHLLEE -, RREH. RERMTLHF?

19)

At 1 pm in noon the temperature was 21°C. The temperature dropped 3°C per

hour. What will be the temperature at 6 pm in the evening ?

1R, BB 21°Co RBE/PMRTR3C, B 6 BNBERSD?

FF 1R, [E21°Co RBE/PRTE3C, L6 JNBERZD?

20)

Compute : 235.24 + 356.79 — 131.57 - (- 23.69)
A8 : 23524 +356.79 - 131.57 - (- 23.69)

T8 : 23524 +356.79 - 131.57 - (- 23.69)

END OF PAPER
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